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5.34 % (=3) + 5.34 x (=T7)

> E.

> ®™eh: -534

B

5.34 % (=3) + 5.34 x (-7)
=5.34x {(=3) + (-7)}
= 5.34 x (-10)

=-53.4
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-3ETH +38WF 45, 5T 4THF A2 FE LT F

a<x<b? AL x 9 MNEe?

@ 17 @ 37 @5

7N @ 774 )9 7N

B

a=(-3)+(+3.8) =08
b=5-(-47)=5+47=97
wbA 0.8 < x < 9.7 ¢ A=
ojtt.

1,2,3,4,5,6,7,8 9297




4. EuERS olgstel kg 42 Akshu?

1.97 x (=17) + 1.03 x (~17)

@5 ©o-3 60-17 @-u4 6 -3

B

1.97 x (-17) + 1.03 x (=17)
= (1.97 + 1.03) x (=17)
=3 % (-17)

= -51
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6.  3.999 x 436 + 3.999 x 564 & AAISFL, AL TG of| A AFEH A4
HAZ 2t 2 At
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3.999 x 436 + 3.999 x 564
= 3.999 x (436 + 564)
= 3.999 x 1000 = 3999
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-10 < x < 9 & WE55h= A5 x 9 =S T2 oHH?
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